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_ 3 Winnér of 2012 Nobel Prize in the field of

PART -1 GENERAL KNOWLEDGE AND
TEACHING APTITUDE.
1. According to census 2011, Andhra Pradesh

literacy rate... [ 1
2011 earer B0 B8 sofHos wionyEe Fdo, 7
1.861.11 % 2.65.38 %

3.67.66 % 4.70.92 %

2. Which day is declared as “Malala Day" by the
UNO recently. [ ]

1. November 8 2. November 10

3. March 8 4. January 15

2 B 0¥oregding Hoorer ' m ($5800087
1. 85026 8 2, $Hoab 10

3. %8y 8 4. 23558 15

literature.. [ ]
1. Gyan Moyon 2. John. B. Gordon 8
3. Shinya Yamanak 4. Hillary Montel

2012 36 HEJoest FErdgEorol® ward (irs

1, @ 3rdird 2. =78 .F%c8
P z
3. QTdbdeE 4. ppb SroBd

4. Number of member countries in SAARC [
a5 ‘r’aajcgé-a'-'e: Sogy?
1.5 2. 6 3.7 4
5. Which city hosted the 4th world Tell

conference %

(Prapancha Telugu Mahasabhalu

1. Hyderabad

3. Tirupathi

435 [5B0S Beotd S

L. r&oeerd

3. 8558
6. The pro

Dis raining Institutions

[ ]

ntel nal Educational and Cultural Council
SNE?aribhaf patel Committee report

4. 1986- National Educational System

@ Doy 8Fe $oB (DIET) o fﬁz%:oabe;ﬁ}
BeDoDS End

es blishment of 10,

1. &b 5H5S 23688
2. wodRduH Do, FoxydE S

3. &&berd®d $8S 9363

4. 1986-=r80H Doy Dgrido

The major shift proposed by NCF-2005

is [ ]
1. learning through books

2. learning in the wider social coptext
3. learning with teacher monitofir
4. learning in the class

er 2. comfort him / her
1d later correct that student

o8 Sp on, © 558 SILRECin

b, o Dm“ég&} 3Board

2. © dogbl ol atendd)

3. @ @aﬂégg &0 SrSden ad), SHd fSlélalaiss)

4. © DB BZoisHone SBBBrD

The evaluation in a class room should be[ ]
1. comprehensive 2. continiuos

3. cultural 4. continuous and comprehensive

8618 Kad® TD Srarodbo & dorr dord
1. &|tore 2. VbosBore

3. PodE JBorr 4. JBSBore, JdEore
Who were responsible to complete primary
education to 6-14 years children according to

RTE Act - 2009. L 1
1. Parents 2. Government
3. Society 4. Parents and Government

Deegedesy, $40-2009 Hsedo 6-14 DonedtH
DLLOLET |FeHns Do ‘@1937‘5@ SrREeDyS
258 HBD Hoenod.

1. &8&o(then 2. [Bghso

3. {direo 4. 89olhen, [HhEo




PART - Il (A) GENERAL ENGLISH
11. He said, “Be quiet and listen to my words” [

(The sentence can be reported as)

1. He requested them to be quiet and listen

to my words.

2. He ordered them to be quiet and listen to

my words

3. He commanded them to be quiet and listen

to my words

4. He urged them to be quiet and listen to his

words
12. We will execute all orders promptly. [

(The passive form of the above sentence is)

1. All orders will be executed promptly

2. All orders would be executed promptly

3. All orders will have been executed promptly

4. All orders shall have been executed promptly
13. If | were you, | it? [ ]

1. Would not have done 2. Would not be doing

3. Will not do 4, would not do
14. Mohan doesn't work hard.

(select the appropriate question tag)

1. does Maohan? 2. does he?

3. does n't he? 4. did he?

15. | agree your proposal.

(Choose the appropriate preposition to

complete the sentence)

1. at 2. with 3. to 4. at
116. My uncle is a "Psychiatrist’. Which of the
following is the meaning of the underlined
word,

1. a person dealing with skin disorders
2. a specialist dealing with mental dis
3. a person dealing with heart disor
4. a specialist dealing with bone.di

]

]

[ = ]

17. The lion is king of beasts, ]
1. the 2. a 3. ang®
18. He new shirt. [ ]

1. puts off 2. puts4
119, They __ (liv

]

secretary garlanded the Minister

‘Minister gave a speech on discipline and
good manners and an end with a drama

4. It was decided to have our School Day on
4th April,

1. dabc

2. dbac 3. abcd 4. dcab

PART - |l (B) GENERAL TELUGU
21. TipEsmo ©od.
. Thaessos Erdis oreyd) Babre drditio
. w:ﬁ:égé@ff Era&d arsegR)y aesborr Srdito
. REPHE (BoHE® &rE% oeeeR) wedarr EEhdo
. OBEPBE (BaHE® Er8S arsR) TedorT Srgito
22. “avai"oé?gé EBso BOATe Joruoandding the
Sodand fzplo BOAT KrFjold.” ol o fntetona]
weosedo. (
1; aq;oééx:ﬂ;i)o 2. add 3 a@;é 4. Erdso
23. wapsdordo FEost) oEBIt A TrhHa.
1 oSgETR

S T R

(

B,

2. Dijpdreio TR

3. 'ﬁzédfn?g T 4. Sogdly TR

24. 850 ol Hordd ey ( )
1. Hgmo, Be, ) 2. &80, fitn, dogo
3. Sesgs Léo awo, FEmto 4. LG50, FEE7so

25. ‘Bt ISR 0 wEgErn of
PHERE Er6R
1 aﬁﬁpa‘ &8 Sfanoh
3. m@pd JHAT® Do

26. wRonibond MNEho
eBHES, ofl@rary
1. étf‘}é:- seahen
3. Mol tro

27. %80 =0,

™ &% wodo DH6odel.

2. erdirdb £980
4. o8 £2%0
o doBoil BY. ( )
Gyrand) HEDEre 2. sordy dbly oired
oy A Treroeiitrer 4. wTRG) abhy &4 roe
L30, K;Scm@'a %irehS b & $De Koseso. « )
1. uhoren SPe0 2. HdGo
3. &5 DS 4. sElo
31. %855 dbohod. ()
1. 2nd+a8 2. &b +a8
3. 8 + 8 4 %8 + of
3e. ‘&Dl_é‘ééa‘n?sé’m a8 (Herd 53&5 efoorr §§é £a.( )
L $Hly 2 85S 3. 685 4. ABS

33. Dorgto-wI Hko & DRPFNE BT,

1. Ddse B EGprddh SErdo
2. G388 Bdrdo 3. rotiy

4. SDERSTREDE SGorsad $SrRo
34, ‘8% u}cﬁo ©d Koo D D RSt el (
1; §= 2. 8 3. 35D 4. Loy
35. &% :Jaf'évée 5000 E8%o. (
1. 58 F8%0 2. wollmrahd d8%0
3. %dod d8%o 4. HEred F8go

6. 5ZAY BoBE® ©.5, &, a» ob o sy,
1 ©3 wipw

(

REIPRo

2. Boeen Hind
akl
4. wddo i




37. ‘THo’ > B8

= n:& moort? ( )

1. ddsred 2. Ftscen SBosod®
3. rLsrod Sowohodd (Hogren orabhEos?
4, rosred® § FFw $HoSKost

38. =8 =H DY $o. (B
1. & 2. & 38 4B

39. 886" Sa5aHK $DE0. (I
L grS8dsto 2. Bont ¥280
3. edhsiich D80 4, Dbt

40. Sore ‘:’:\ﬁmé* ) Srdned Dotrd? « )
1. Bozrides &8y 2. Gty
3. 510 Boerdo 4. b=t

PART - Il (A) MATHEMATICS
41.The ratio of the altitudes in two similar
triangles 1: /> then the ratio of their areas.[ ]
Both JErd Bibere shie 3G 1) 2 wons o
STurine J8....

152 2.2 &l 412
2x 3y
42, Slope of the IoneT +T’+2(J13:0 [ ]
2x 3y
= +—+"UI3 03 Bw%) aren. [ ]
1_ 4 , - L9 -9
¥ '3 ¥ 4. r

43. Intersect point of lines x+y=2012, x-y=1
Xx+y=2012, x-y=1Bpe pots Doty
1.(2012,1) 2.(1,2012)
3.(2012,2011) 4. None o2&z

44, General form of the line passing throu
origion.
wblok o SFGh H8¢8y Foede
1. y=cx+m
3. y=px

45, If a cone and a cylinders
bases and heights the
volumes. .

e SR Hivmen.

3.2:3 43:2

gled triangle side is
___(indiagonal-d)[ ]

47.Sin 2010° = [ ]

L

! 3 g8 =l
1. 2 2 7‘ 3 7 )
48. Cos 141° + cos 39°= [ ]
1 1
1. 5 2. a 3.0 4 None (oé=h)
cotl 1" csctll“+]___r__ [ ]
“esell” 1 cotll?
1. 2 csc11? 2.2 sin 11¢
3. 2secl11? 4.-2 cscl11?
2 3 [5
50. 4 ! |xP=|!|=orderP=___ [ ]
5 =2
5 4
¢ 1 lype
5 -2 |6
|
1.:3x2 |
B1. 7»3=g5wa=
1.0
52. log 0
Al

work in 10 days and B

'the same work in 15 days,
any days required to both A & B
plete the work? [ ]
¥ 530 10 Sferedt, B ol 529 15 sfeodti
TOIT. G 0% @ B o8 oo B,

1.4 2.6 3.8 4.5
54.n(A)=10 n(ANB)=8 =n(A-B)= _ [ ]
1.3 218 3.4 4. 2

55.Which of the following is not true? [ ] |
& (208 =0&° KesRe?
1. ~(PvQ)=~PA~Q
2. "—(P:}Q)E e P,r\ ~Q
3 ~(P=oQ)=P= ~-Q
4 ~(PAQ)=~-PA ~Q
56.f(x)=logx = f(1)+f(2)+f(3)=___ [
1. log2 2. log3 3.log6 4.1
57. e f} are the roots of ax? + bx+c=0, then which
I 1
quadratic equation having roots ;E Is__
% I
ax? + bx+c=08 g, ff foregs ‘{;-E:ﬁmeymm e
&S Vsosdo.
1. bx*+cx+a=0

2.a+cx+b=0




3. cx*+bx+a=0 4. ax?+bx+c=0
58. Co-efficient of middle term in the expansion of

(1+)"is [ 1]
(1+X) " 05866° L5y HSHwdo=. ...
10 10! 10!
1. ‘5‘@ E 3. 1015171 4, -?7
._ 111 B
!59.1-*2*+3~§+ ................. o= [ ]
3 -3 2 -2
1. 5 2 ? 3. :’ 4. T‘

60. In A ABC, S is the circumcentre, G is
the centroid, O is the orthocentre then
0G:GS. [ 1]
AABC &* 5858 SolSo S, rethdBoo G, eosdoo
O wons OG:GS=_____
s 122 2 271 a1 4.1:3
PART - Il (B) PHYSICAL SCIENCE
61.An electro-magnet is made up of [ ]
1. steel 2. copper 3. brass 4. softiron
DisyiahIoso Eairth DO ¢dTPROT ko
L eo 2. oA 3. =88 4 Db zhdw
62.The ratio of angular velocities of Minute hand
and seconds hand is [ 1]
Ddwire Sovey, DEog Moy FdahIre 58
| Bt 21568 3121 4 412
| 63. When zinc metal reacts with sulphuric acid, hy
| drogen gas is evolved this reaction is [ £
i 1. chemical composition
2. chemical decomposition
3. chemical displacement
4. chemical double decomposition
Sems6E ©io8® @of SE;Tos, T3
DDBOIOD, LonB & EFUHILS
. BAFch® So@ria
3. Bards apdigodo
64. The principle inyg

4

ggen bomb is[ ]

4. e,g} Bl éééw

65. Which of the following is true. [ ]
1. Blue + Green = Yellow
2. Blue + Red = Cyan

3. Green + Yellow = Magenta
4. Blue + Red + Green = White
(Bod a70&" BBFoik.
1 Qoo + BBy = Hid
2. Doo + 25H = S0 Heo
3. sHdg) + S = 2 36H
4, oo + 65 + sdd) = ool

66. In which of the following substance, the
velocity of sound is maximum. [ 1]
1. Hydrogen 2. Nitrogen
3. Carbondioxide 4. Air
Bob & SorBod® GRIKo KBo.
1 3ol 2. 35
3. =5 S8airg & 4. rr2

67. According to Haygen's wave theory of light, the
colours of light are due to.
1. difference in the size of corp
2. difference in the waveleng
3. difference in the time

magnetic waves |, °

4. all the above &~

ere wsdlsrore SOl
\ 4. ‘gzﬁﬁ‘;‘

area of cross section
ubled, then its specific

2. halved

4. constant

81 UG DB DTS Jwery 8o 3]

s &n Q%%} 26850,

1. B:goé; wHthob 2. S0 eHiod

3. Trenth Siy wiyidol 4. Frd

69."No two electrons will have all the four
quantum numbers same” This is the
principle of. [ ]
1. Aufbau Principle 2. Hund's rule
3. Pauli's exclusion priciple 4. Joule's latel
“% Both JolFhed Terh swoto Dogges BErEo
sy 36 O Dabhde.
1. 8% &° Srigo 2. Hwok) Dadbdvo
3. &0 555 abo 4. &S Ao

70.Which of the following is not a property of
cathode rays. [ ]
1. cathode rays travel in straight line '
2. cathode rays create mechanical motion
3. cathode rays are deflected by magnetic field |
4. cathode rays travels with velocity of light |
Bod &S e E B8 B0 s=Rda?




L. 558 88eren anerdirgod® [Hurdran
2. &8 88eren PoBY Pl SeorEron
3. 68 8beren ©chidyos é@oéﬁ wnSG50 Totbaran
4. 55 S8eren 5008 3K08° [HASEBFrow.

71. The correct form of %, in the mixture of
Biogas [ 1
1. 50-70 % Methane, 30-40% CO,
2.50-70 % CO,, 30-40% Methane
3. 50-70 % Butane, 30-40% CO,
4. 50-70 % CO,, 30-40 % Butane
a:uLﬂJ“FT"éEG:ﬁ"‘K] Fnye DEH Tdo Dwoansd fgslelatatatad
L 50-70 % D@8, 30-40% CO,
2. 50-70 % CO,, 30-40% HES
3. 50-70 % =88, 30-40% CO,
4. 50-70 % CO,, 30-40% arg&S

72.Favna is related to. E 4
1. group of animals 2. group of plant disease
3. group of Bacteria 4. fungicide
Fr D8 SonobodBe.
1. moé H¥nordbo 2. HE b ddwordbo
3. wpfsdire Sswmrabo 4. 8boE ko

73. The state of muscles contraction is due to[ ]

1. Para Thyroid 2. Thyroid
3. Vasopressin 4. Adrinaline
Zotiores D085 %88 sebihdly L6648,
1. &roe gorond 2. goran&
3. REBS 4. QBSOS
74. Artificial gene synthesised is laboratory by[ ]
1. B. Sahani 2. H.Khorana
3. M S.Swaminathan 4. Sir Ronald Ross
58D sigdd BRriees® Sart 3hS o

B

! 6,5{.36 2, 550086 ¢ .r__.-p-
3. doo.aoR. TS 4. 35 5"53‘;5 ety
75, The scientific name of Vit- D
1. Tokoferal

3. Ryboflevin

3. asidde )

78. The location of Indira Gandh| Zoo. [ 1]
1. Vizag 2. Srikakulam 3. Nellore 4. Hyderabad
zoborred we A (HEdo.

1l Serf 2. §¥o 3. Jepth 4. Trooverdd
79. Silica used in computer industry, it is available

in the coast of . [ ]

1. Vizag coast 2. Chennai coast

3. Kerala coast 4. Bombai coast

BE0EH Bos® EolrB5 Homofodd bBs

ofod |Frodo.

1. =R &0 2. 33, 8o
3. 25¢ &%o 4. Fowran 880
80. The group of sperms known as. [

1.spawn 2. swan 3. milt 4. vilt
DESere SBuordie) s Leodr.
L&ES 235 3. 2 4 2§
PART - Ill (D) SOCIAL STUDIES
81 The rank of telugu language in world top

languages. (]
(B0 Bewtd FrHoNeds® B
1. 22 2. 20 3.

82. Which was not belong
1. Permanent House

3 LOWE‘I’ House

83. into forcedon [ ]
947 2. 26th November 1849
1950 4. 8th November 1949
50 wendts HND 38,

508 1947 2. 26 HdSox8 1949
2358 1960 4. 8 SHoxb 1949

ese were nationalised by Nehru's
government [ ] |
1. Banks 2. Road Transport

3. Electricity producing units

4. Life insurance companies

S (Hg0E0 HBY wedoho Bobk.

1 a:uéoéw;é. 2. 8% Sarerio

3. D808 aEnESS 4. E98 Diw BoHek
Who defined Democracy is the form of
government of the people by the people

and for the people [ 1]
1. Aristotle 2. Abraham Lincoln

3. Gandhiji 4. Nehru

@J&wvﬁé}éo;ﬁ: Bezen E 80 gvdn IBHED
D 50953 (Dghsz0 e ALDoDD ‘“’tﬁ)

85.

l. wbardd 2. wgfro Dosl
3. robd 4. IS0
86. Who banned foreign trade by Native
Rajas [ ]

2. Lord William Bentinck
4. Lord Whywell

1. Lord Dalhousie
3. Lord Courzon




OB oreren DBB TgRTeR 85 SR

L o8 &SR 9 @5 3)3_}05353 Bodoh
3. @5 é65 4, sus I3

87. The Tata Iron and Steel company 1905 was
established in E 1
1. Bombay 2. Ahmadabad
3. Jamshedpur 4. Orissa

& trer 088 & §S 5o 1905 &° wE
FEHoSRES.

88. Which is correct matched. [ 1]
Writter Book
A. Tulasidas - Hanuman Chalisa
B. Abdul Fazal - Akbar Nama
C. Vital Nath - Vaishnavi - Ki - Vaartha
Bod AS® KO wSEBES08SD.
e 50005 (fomes
A TS - 5SS TO>
B wnd Pud - 9% sodr
Gi 3)5‘35@5 - 3% -&- Evidel
1.AB 2.B,C 3ABCdNoneofthese
89. Ramzan Means. [ ]
1. Keep fast 2. Give alms to poor

3. Go on pilgrimage to mecca
4. Fight against bad
Boers e,

1. adasby 2. DEBees Sak oo

3. oz dir(E 4. JoD Porto

90. Who advocated the principle of Right to
work [
1. Pleto 2. Louis Blanc
3. Karl Marx 4. Napoleon

B ) DrpoerR) (HEIBoDIH.
1. e 2. erawe apof
3. o555l 4. IVOAHS
. Match the following.
1. Hyderabad
2. Warangal
3. Nizamabad
4. Kurnool
o ar&D

ajcri,yﬁﬁs
()& &Lwrien

2. 1c-2d-3b-4a
4. 1¢c-2b-3d-4a
92, of Kolleru lake is [ ]
5q.km 2. 520 sg.km
3. 460 sq.km 4. 720 sq.km

2'-'9663 n..ém)nj 5):»60 wos?

L 1. 250 5.8.5. 2. 520 $.8.4%

L. &Poeran 2. ooreeE 3. mot™mb 4. 2.83m

3. 460 3.8.5. 4. 720 3.8.5.
Nizamsagar project is across the river. [ ]
1. Pranahita 2. Musi
3. Tungabadhra 4. Manjeera
:033“0?3“?{5 EG & 567 Soi.
1. (Srelrs 2. S
3. Hons 4. Hodoe
. Horsely Hills are in the district of. [ ]
1. Prakasham 2. East Godavari

93.

3. Chittor 4. Anantapur

5D Foken & Bepd® Kb,

1. Peedo 2. & Roesd
3. Dérd 4. @bosHo

95. The Victoria falls is on the following river.[ ]
1. The columbia 2. The Amezon

3. The Zambezi 4. The Orinac
S'Jéiao'i:n 2oPB0 & zoFEP
1. BPoodcsir
3. arofia

Supply curve is.
1. Parellel to x-axi

2. goes up fro

4, L.678
96. ;

2000 Gl

Varket price. [ ]
555,33;3 ‘nﬁlgo é%cﬁyéﬂﬁ.
+1+G+(X-M)+(R-P) 2. C+1+G+(R-P)
. C+I+G+(X-M)+(R-P) - D
4. C+I+G+(X-M)+(R-P)+D
National Income means. [ 1
1. Income of the states 2. Income of the world
3. Income of the total country 4. None of them
8D voecho v
1. ovigpe sTrdho 2. (HHoS eoraho
3. ¥dwdo swedho 4. 230D,
Decrease in death rates. [ ]
1. Economic indicator 2. Political indicator
3. Social indicator 4. All of above

Hobes Tendt éﬁnxﬂe)

1. ©88 &e08 2. oeesdad HodE

3. polns Brog 4. 5%
100. The first five year plan was launched on[ ]

1. 1st April, 1956 2. 1st March, 1951

3. 1st November, 1956 4. 1st April, 1951

E.mée% SoBBBBerE AP oo
”““6 1,1956 2 nﬁ:wq:, 1, 1951

SSowb 1, 1956 4, S 1, 1951

98.

99,

3

!
i
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